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B | 756r ) &0 | B | G0 | A (m) om (km) | (FE) | (PR | (xLoom) | (Wemen | (rme) | ) (08:30-18:30)
1 991.0 | 27.2 | 82.5 [ 22.8 12 N 5 N - - - 8.0 i
2 991.7 |27.5 |34.6 122.8 13 N 9 N 0.0 | 0.0 [0.0 10.0 /77 * R 2
3 991.2 |27.1 134.0 23.3 16 SSW[__ 11 SWl - - = 8.0 45 R 3
4 089.5 |27.1 [34.1 |22.5 13 N 10 N - - = 5.0 4
5 989.6 | 27.2 133.3 [22.9 16 NNE| 10 NNE| - = - 10.0 /77 R 5
6 992.3 |28.0 {34.8 [23.4 14 N 10 N - - - 20.0 77/ 5
7 995.0 | 28.0 [34.0 | 24.3 15 N 9 N - - - 25.0 777 7
8 993.1 | 26.7 |32.5 |23.8 16 N 11 N - - - 8.0 , B
9 989.4 |26.2 |31.9 [22.3 16 N 9 NNE| - - - 7.0 777 9
10| 988.0 |25.5 [30.8 [21.6 16 N[ 10 MNE| - - = 20.0 180 10
11| 987.2 |25.4 [31,3 121.5 4 N 9 NNE[ - - 10.0 150 11
12| 985.4 [24.3 [28.8 [21.6 11 ¥ 7 SSW 7.0 4.0 2.0 15.0 70 ° 12
13| 981.9 [23.4 26.0 [2L.7 8 NNE 6 NNW| 110 4.0 1.0 0.3 ] 2.6 | 1.6 5 1.0 | 1.6 |®R == 13
14 | 985.4 |24.5 [28.6 [21.5 15 NNE 9 NNE| 0.5 [ 0.5] 0.5 25.0 25 14
15 | 988.2 |24.2 [30.0 |20.1 14 NNE 9 N - - - 20.0 40 5
16 | 987.4 |25.4 [32.0 {20.5 13 SSE 9 S 2.0 2.0 1.5 25.0 120 16
17 | 985.4 {23.2 [30.7 | 20.6 24 NNW| 16 NNW, 10.5 | 5.0 | L5 2.0 | 1.1 20 1.1 * R 17
181 991.0 [23.7 {30.0 |19.1 15 N[ 10 N - 0.5 | - 30,0 60 18
191 992.9 |24.1 [28.2 [21.0 13 N 9 N - - - 20,0 30 19
20 | 989.9 {23.9 |928.4 [22.4 10 S 8 SSW| 5.0 251 1.5 2.2 | L9 30 1.9 . 20
21| 984.4 {24.6 [27.8 [21.6 13 SSW[__ 10 SSW_ 1.0 1.0 0.5 15.0 100 D 21
22 | 983.9 |24.6 [28.2 [22.0 17 N__10 N 10| 0.5] 0.5 30.0 25 59
23 | 986.1 |24.1 |27.9 [22.0 16 N 10 NNE| 0.0 0.0 0.0 25.0 25 » 23
24 | 986.8 |23.8 |28.7 [20.2 14 N 9 N - - - 35.0 /// 24
25 | 977.9 (23.0 |24.8 [2L.1 36 s|_22 5| 39.0 | 16.0 | 8.5 5.0 20 . 25
96 | 982.4 |23.7 |27.9 |19.2 26 ssWl 17 S| - - - 40.0 40 26
27 |__988.4 |22.4 [29.1 |17.5 13 N 9 N - - - 30.0 27
28 | 989.5 |22.5 |29.4 |17.8 8 NNE 6 MNE| 0.0 | 0.0 0.0 35,0 100 . 28
29 | 989.3 |23.7 130.9 |20.3 11 N 8 N 2.5 | 25| 0.5 15.0 100 . 29
30 | 989.7 [21.5 |22.8 | 20.7 16 [ 8 Wl 26.0 | 8.0 2.5 2.0 4.0 6 4.0 e = 30
31 | 993.1 [21.5 [22.9 [20.2 9 S 7 sswl_7.51 2.0 0.5 1.5 | 0.9] 0.5 3| 05| 0.4 0.5 [® 31
EA 9911 [27.1[33.3 |23.0 0.0 0.0 | 0.0 0.0 0.0 0.0 (RRAEMD LB DER)
Rl 987.5 [24.2 [20.4 1210 36.0 5.6 | 1.6 0.0 40| 1.6 | ®mm * BW = b
T4)| 986.5 |23.2 | 27.3 | 20.2 77.0 4.9 | 0.5 0.5| 44| 0.5 | =& REE % T
B 988.3 |24.8 [20.9 | 21.4 113.0 10.5 | 2.1 0.5 | 8.4] 2.1 |5 hbh & 2En =~ Bkl
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5 C= 28 20KT< 1 1. Omm=< 11 1 B E 0 | 0.1~2. oW 4 2 4
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